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aabh.-.quésuén. them are 4 optmns givem -
B e .;_._-;;und sﬁaae the oval (1, 2 3 or 4 on; tﬁe

1 In58037,the digit’8'isinthe ________ place.

(1) tens

(2) Hundreds

(3} thousands

{4 ten-thousands { )

2. 1300x265=1300x] ] +1300x5

‘What is.the missing number in the box?

s
O
{4) 30 « )
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3. Express 6% as an improper fraction.

nm —
2 —
@ —

@ —

4. ABCD is a square. Find the value of ZCDB.

{1) 30°
(2) 45°
(3) 60°
(4) 90°
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B

- How many pairs-of parallet fines arétherein the figure. shown above?

@2
33
@) 4

6 " The figure is made up of a square and a rectangte. Find the tength of

Aedlcm B

(1) 12em
(2) 13em
(3) 17.cm
(4) 18 cm
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7. Whatis the breadth of the rectangle shown below?

A

2ecn——m——»

Area = 60 cm?
Z 3
v t2cw . <
(1) Scm
{2) 18cm
(3) 36cm
(4) 48cm : ( )

8. Which of the following is a factor of both 60 and 767

{1) 6X
(2} 5S¢
3y 3
(4 4 | ¢ )

9. Jaron sold 384 pens every month. How many pens did he sell in a
year? '

(1) 1242

(2) 1352

(3) 3408

(4} 4608 ()
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10

What fraction of the shapes are c;rcles’? '
A OA O AN @ A
AAAAOOOD
: (4) f‘f
11 Find .}fh‘é value -qf «x in the figure shown'beléw.
o o
L (2) 45°
@) 50°
4) 60
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m
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SRS _Joseph had 2616 marbles. After giving some miarbles to his§ fisids,
i . hehad 210 marbles feft. If sach fnend\recawed the same. number of
D ;_marbIes ‘how: many marbies dld each friend rl'ﬁGE{Vé? '

. -(1) 401 L
). 4%
Lo @ At
T )7 1260

s 15 . 3» Gf the beads in a basket were red and the reat were whlte if 1here

- were. 18 red: beads haw many beads were tt'.‘ere:m the basket
- altdgether’? - -

)y -'"i9- :
(2 27
3 45
{8 90
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g ns'_ camfulty aﬁd \mite the t;arrect answer in the boxes provtded

.16, Weite 48 712 in words.

17 Find'the product of 636 and 7 tens.

18. How many:sixths aré there in 5 % ?

sixths

B 19 Find'gﬁile'jva_lué of 7 — % - -;— Give the answer in the simplest form.

s T
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20.

P

In the figure above, ZP is made up of ?____ rightangles.

sight angles

4
21. Measure and write down the value Zx.
A

CPRRSRE B
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s of perpendicufariings found in the diagram. .

: 0

1 (i)

Pd9€10 ' EU S
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24. In the figure, LMNP is a rectangle and ZMLN is 26 °. Find the value of £PLN.

L M
26 °

25. Rectangle A and Square B have the same area. Find the length of one side of
Square B.

4¢ A

A
b

26. What is the first common muttiple of 6 and 9?
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| 27 The symbols represent the digits 1 to 4. If a represents 4, what i the value of

. AD
- gj A
Cl |

D

28 Fans had $35 and- Maxx had some meney, Aﬁer Maxx gave $1O to Faris, ﬂTey
" had {he same amount of money.: How much did Maxx have at' ﬁrst’?

126 tiam-put 8 books into a box. After packing' his' books into_34 such boxes, he
| “found that e had 7 books left. How many books did he have altogether?
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30. Russeli spent -;-h practising on the piano every day. How much time did he

spend practising on the pianc every week?

Give the answer as a mixed number,

'31. Nadiah is facing the post office. Where will Nadiah be facing if she turns 3 right

angles anti-clockwise?

School
ABC _
Clinic - \ / Park
Post | - __{ Shopping
Office ' Nadiah Centre
i House /
| Library-

Market
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o 32 Q'Shawn {s new facmg East dtrectttm WhICh dwectlon wzli he be faang :f he tums
S -_31s° © his nght‘? ' .

Nodh o _
North—West N Ngﬁ&’éast

Soutrwest | South East
. seuh

33. ‘What is the area of the figure shdwri'béiov&?

. X 1
-dl'_j : T

|4 cm

i

9emff | ¥

cm®
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34. A rectangular piece of paper, measuring 9 m by 6 m, is cutinto 3 smaller
identical pieces as shown in figure A. They are then used to form a'shape as
shown in diagram B. What is the perimeter of the shape in diagram B?

Py

6m

A L L L
2an
.

e

“—— gm —*

Diagram A Diagram B

35. Look at the pattern shown below.

O
o/ . \o © O
O O
15! 2nd 3fd
Pattern 1 2™ 3 4% 1 sth
Black circles
White circles 3
Total circles 4 6 8

What is the total number of circles in the 50" pattern?
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- RAME: ()

- .CLASS

=_3ecttonc {3 ymarks )

: Gad thefnilowing problem SUms: carefully‘ sttow ail workmgs cfear!y inthe
. ‘-spaces prevfded You may: draw moﬂéisto help you

36 Mlss Jean bought 3 ‘blouses at $14 each She aisc bought a hartdbag that
L cost $90 miore thafi-the amourit stie had’ patd for the 3 blous&s How much -
did she pay for the 3 blouses and the handbag?

| '_..cz marks),

mﬂg

3? ‘Rashiqah and Alina had 494 stickers altogether. After Afina bought 22 morse
' stickers, she had three times as many stickers as Rashiqah. How' many
stickers did Rashigah have at first? (3 marks)

Working
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38.

In a Mathematics test, Rae scored 20 marks more than Serene. Jellabel

scored —;—' of Rae’s marks. Rae scored 95 marks.

(a) How many marks did Serene score? . _ (1 mérk}
(b} What were their total marks? {3 marks)
Workin
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_Thre;e,*boys'-"-’sqid a 'numi_aerf of é:harsty'- tic'jke_:s. Ahmad '-éosd; i_ Gfthe %f:harit‘y

. tickets, Braﬂdon sold -~ of the chanty tickets and Chnstopher sold the rest of
"'-me chanty t:ckets Chnstopher sold 36 chanty fickets.
| - -(a) Hew many chanty tickets dld Ahmad sen? R (1 mark) S |
i ..—(b) Af: each itcket cost: $7, how muoh did the three béys celieet from the total _
_saleofthe tickets? S ‘@ mams)';_ :
- Wadog.
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40.

Renee bought 4-;— m of clath to make a blouse and a skirt. She used %m to

make a blouse. She used % m more to make a blouse than a skirt. How much

cloth was left in the end?

. Give the answer as a mixed number. {4 marks)

Working
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) 41

Verena pard a: total of $435 fora badmmton rac:ket 2 s:m:lar soccer baiis and
a tenms racket. A soccer ball cost $15 more than'a baeimmtnn .racket The

-tenms racket eostﬁ ttmes the total amount cf a badminton rad<et and a .

o f-soccer ball.

" (ayHow much did the badminton racket cost? ' (3 marks)
| '-(b) How muéh:did ‘she p,ay ‘for the !enms racket? o (1 mark)
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: 42 A totai of 240 chﬁdren and.adults went fory a school concert, There weré 6‘0
m:ore chlldren than adults at the concert lf the number of boys was 5 t:mes
‘the number o gms at the concert,;- how many boys were at the concert’?

(4 marks)
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43, The figure below is made up of a big square it tires smallor sqifires inside
. IFind tr-area of the inshaded pars.: © ., . o o

-END OF PAPER-
Setter: Mdm Sally Heng :
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EXAM PAPER 2009

SCHOOL : HENRY PARK PRIMARY
SUBJECT : PRIMARY 4 MATHEMATICS

TERM : SAlL

Q1 1Q2:Q31Q41Q5]|Q6{Q7 | Q8| Q9iQuoioi1]ni2]o13]qi4alqis
3 -3 4 2 2 1 1 4 4 3 3 2 3 1 2

16)Forty-nine thousand, seven hundred and twelve 17)44660
18)34 sixths 19)6y;3  20)3 21)118° 22)

23)IYCD/FE i§i)ML/AB 24)64° 25)6cm

26)18 27)3 28)$55 29)279 30)21s3

31)School 32)North-East direction 33)121icm:2

34)36m 35)102

36)$14x3=%$42
$90+$42=4$132
$132+$42=$174 _
She paid $174 for the 3 blouses and the handbag.

37)494+22=516
516-+-4=129
Rashiqah had 129 stickers at first.

38)a)95-20=75
Serene scored was 75 marks.
b)95+-5=19
19x4=76
76+75+95=246
The total marks were 246.
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39)a)36+3=12
Ahmad soid 12 charity tickets.
b)12x8=96
96x$7=$672

The three boys collected $672 in total.

40)Skirt>11/12m-2/3m
=11/12m-8/12m=3/12m

Left>41/6—11/12m
=42/12m-11/12m
=314/12m-11/12m
=33/12m-3/12m
=3m

3m of cloth was left in the end.

41)a)$15x8=%$120
$435-$120=%$315
$315-15=$21

A badminton racket cost $21.

b)$21x12=$252

$15x6=$90
$252+$90=%$342

She paid $342 for a tennis racket.

42)240-60=180
180+-2=90
90+60=150
150 6=25
25x5=125
There are 125 boys at the concert.

43)8x8=64
4x4=16
3x3=9
ix1=1
64-16-9-1=38m2
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